
Warm-up

1. Write the new equation of 𝑓(𝑥) = 𝑥2 given the following 
transformations: reflected over the x axis, left 3 and up 2.

2. Write the new equation of 𝑔(𝑥) = 2𝑥 given the following 
transformations: reflected over the x axis, right 4 and down 3.

3. What is the end behavior for 𝑓(𝑥) = −3𝑥4+ 9𝑥3+ 5𝑥 + 3
a.) Up and Up, b.) Up and Down, 
c.) Down and Down, d.) Down and Up
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Homework Review…

Page 7
1. growth, 8000
2. Decay, 20
3. Decay, 15
4. Growth, 6

Page 8
5. 8.81
6. 153,593.30
7. 12,765.15
8. 2,391.48

Page 9
1. 160.10
2. 43,871.99
3. 16,777,216
4. 4
5. 6191, 4%
6. 361,223.09
7. 2.37034368 E-11

Page 10
8. 51.24
9. a)1724.48   b)1686.05     c) 1799.78
10. Hmm, somewhere between 1 and 2
11. a) 2674.38   b) 2654.49   c) 2622.93   d) 2570.99
12. 1: 1419.07, 2: 2013.75
13. 13193.30



Objectives

Define the relationship between a function and its inverse.

Find the inverse relation of a function.

Convert between Exponential and Logarithmic form.

Homework

Packet pages 11, all problems.

QUIZ THURSDAY – Growth and Decay Problems, Inverse Functions

Packet pages 12-13, all problems.





A function and its inverse function can be described as the "DO" 
and the "UNDO" functions.

Can you think of some we already know about?

For example
Square and Square Root Function

32 = 9, 9 = 3

For example
Cube  Root and Cube Function

3
125 = 5, 53 = 125

Notice that the order you apply the functions 
doesn’t matter. 



Let’s look at a table of values for a function and it’s inverse…

𝑓 𝑥 = 𝑥2 𝑓 𝑥 = 𝑥

What do you notice about their x and y values?

The x and y values are just flipped. This will be true for any 
function and its inverse.

This also means the domain and range are flipped for a function 
and its inverse.



How do we find the equation for an inverse of a function?

The burning question….



Find the inverse of y = x2 - 1 Two Steps

1. Switch x and y values
2. Solve for y



Find the inverse Two Steps

1. Switch x and y values
2. Solve for y



Inverse notation

Let 𝑓(𝑥) = 6 − 4𝑥.  Find 𝑓−1(𝑥).

𝑓−1 = −
𝑥 − 6

4



Work on page 11 of 
your packet.

Do problems 1-6  



8192 = 2𝑥

How will you solve this equation?

Used to be you had to use one 
of these.

You’re going to use a calculator 
but you still need to know how 
logs work.



Things you should know about logarithms…

Logarithms are exponents

𝒃𝒙 = 𝒚 ↔ 𝒍𝒐𝒈𝒃𝒚 = 𝒙

𝟑𝟒 = 𝟖𝟏 ↔ 𝒍𝒐𝒈𝟑𝟖𝟏 = 𝟒

For example…

The log function returns the exponent, 4.

Logarithms are inverses of Exponential Functions



𝟑𝟒 = 𝟖𝟏 ↔ 𝒍𝒐𝒈𝟑𝟖𝟏 = 𝟒

Read this as “log base b of x” or log base 3 of 81.

In other words, the logarithm y is the exponent to which b must be 
raised to get x 

or 4 is the power 3 must be raised to get 81.



Convert the following to Log form

Exponential Form Log Form𝒚 = 𝒃𝒙

𝟏𝟔 = 𝟐𝟒

𝟗 = 𝟑𝟐

𝟏 = 𝟕𝟎

𝟐 = 𝟖
𝟏
𝟑

𝟏

𝟐𝟕
= 𝟑−𝟑

𝑙𝑜𝑔𝒃𝒚 = 𝒙

𝑙𝑜𝑔𝟐𝟏𝟔 = 𝟒

𝑙𝑜𝑔𝟑𝟗 = 𝟐

𝑙𝑜𝑔𝟕𝟏 = 𝟎

𝑙𝑜𝑔𝟖𝟐 =
𝟏

𝟑

𝑙𝑜𝑔𝟑
𝟏

𝟐𝟕
= −𝟑



We can go the other way!

Exponential FormLog Form

x = bylogb x =  y

log2 32 = 5

log5 25 = 2

log10 10 = 1

log16 4 = 1/2

log8 2 = 1/3

32 = 25

25 = 52

10 = 101

4 = 161/2

2 = 81/3



Can you find the unknown?

logx 25 = 2

log6 x = 2

log8 64 = x

𝒙𝟐 = 𝟐𝟓

𝟔𝟐 = 𝒙

𝟖𝒙 = 𝟔𝟒

Hint: rewrite the expression in exponential form.

𝒙 = 𝟓

𝒙 = 𝟑𝟔

𝒙 = 𝟐



When you are asked to evaluate a log, simply set it equal to a variable, x. 
Then use the previous procedures to solve. (Put in exponential form.)

log4 16 

log12 12 

log9 1

𝑙𝑜𝑔416 = 𝑥

𝑙𝑜𝑔1212 = 𝑥

𝑙𝑜𝑔91 = 𝑥

4𝑥 = 16

12𝑥 = 12

9𝑥 = 1

𝑥 = 2

𝑥 = 1

𝑥 = 0



But what about this type of problem?

Evaluate log4 32 



But what about this type of problem?

Evaluate log32 2 




